BLOK|NO| KAT | CEPHE | TiP | M2 BLOK|NO| KAT |CEPHE| TiP | M2

A | 1] zeEmIN [ HAVUZ | 1+1 [61.8[soLD B | 1|zeEmin|HAVUZl 141 |61.8] 105,000

A | 2| zEmMIN [ HAVUZ | 1+1 |61.8[soLD B | 2 |zeEmin[HAVUZl 141 |61.8] 105,000

A | 3| zEMIN | ARKA | 1+1 [61.8[soLD B |3|zemin|[ARKA| 141 [61.8| soLD

A | 4] zEmiN | ARKA | 1+1 [61.1[soLD B |4]|zemin|[ARKA| 141 |61.1] 105,000

A | 5] zEMIN | ARKA | 1+1 [61.8[soLD B |5 |zEmin|[ARKA| 141 |61.8] 105,000

A | 6| zEMIN| ARKA | 1+1 [61.1[soLD B | 6|zEmiN|[ARKA| 141 |61.1] 105,000

A | 7| zEMIN | ARKA | 1+1 [61.8[soLD B | 7|zemin|[ARKA| 141 |61.8] 107,000 A | B |TOTAL
A | 8| zEMIN [ HAVUZ | 1+1 [61.8[soLD B | 8 |zEmin[HAVUZl 1+1 |61.8] 109,000 1+1| [27(27| 54
A | 9| zEmMIN [ HAVUZ | 1+1 [61.8[soLD B | 9 |zeEmin[HAVUZl 141 |61.8] 109,000 2+1DBLX| |9]|9]| 18
A |10| 1.KAT [ HAVUZ | 1+1 |[63.7[soLD B [10] 1.kAT [HAVUZl 1+1 |63.7] 107,000 72
A |11 1.KAT [ HAVUZ | 1+1 |[63.8[soLD B [11]| 1.kaT [HAVUZl 1+1 |63.8] 107,000 ¢ FITNESS

A |12| 1.KAT | ARKA | 1+1 |[63.8[soLD B 12| 1.kaT [ ARKA| 141 [63.8| soLD ¢ /SAUNA

A |13| 1.KAT | ARKA | 1+1 [63.1[soLD B [13| 1.kaT [ ARKA| 141 |63.1] 107,000 ¢|MASA TESNISi/BILARDO

A |14 1.KAT | ARKA | 1+1 [63.7[soLD B [14]| 1.kaT [ ARKA| 141 |63.7] 107,000 ¢ OTOPARK |

A |15| 1.KAT | ARKA | 1+1 [63.1[soLD B [15| 1.kaT [ ARKA| 141 |63.1] 109,000 ¢|JENERATOR

A |16| 1.KAT | ARKA | 1+1 |[63.8[soLD B [16] 1.kaT [ ARKA| 141 |63.8] 110,000 #|BARBEKU ALANI

A |17| 1.KAT [ HAVUZ | 1+1 |[63.8[soLD B [17]| 1.kaT [HAVUZl 1+1 [63.8| soLD +|HAVUZ

A |18 1.KAT [ HAvUZ | 1+1 |[63.7[soLD B |18] 1.kaT [HAVUZl 1+1 [63.7]| soLD

A |19 2.kAT [ HAVUZ | 1+1 |[63.7[soLD B [19] 2.kAT [HAVUZ| 1+1 [63.7]| 111,000 | RESERVE

A |20 2.kAT [ HAVUZ | 1+1 |63.8[soLD B [20] 2.kaT [HAVUZ| 1+1 |63.8] 111,000 | RESERVE

A |21 2kaT | ARKA | 1+1 |[63.8[soLD B [21] 2.kaT [ ARKA| 141 |63.8] 109,000

A |22] 2kaT | ARKA | 1+1 [63.1[soLD B [22] 2kaT [ ARKA| 141 |63.1] 109,000

A |23| 2kaT | ARKA | 1+1 [63.7[soLD B [23| 2kaT [ ARKA| 141 |63.7] 109,000

A |24 2kaT | ARKA | 1+1 [6301[soLD B [24] 2.kaT [ ARKA| 141 [6301] 109,000

A |25| 2.kAT | ARKA | 1+1 |[63.8[soLD B [25] 2.kaT [ ARKA| 141 |63.8] 111,000

A |26 2.kAT [ HAVUZ | 1+1 |[63.8[soLD B [26] 2.kaT [HAVUZl 1+1 |63.8] 114,000

A |27 2.KAT | HAVUZ | 1+1 |63.7|sOLD B [27] 2.KAT [HAVUZ| 1+1 [63.7] 114,000

A | 28| 3.KAT | HAVUZ [2+1 DBLX| 128 [sOLD B |[28] 3.KAT [HAVUZ[2+1 DBLX| 128 | 135,000

A |29] 3.KAT | HAVUZ [2+1 DBLX| 132 [SOLD B |29] 3.KAT [HAVUZ|[2+1 DBLX| 132 | 138,000

A |30| 3.KAT | ARKA [2+1DBLX 132 [sOLD B [30] 3.KAT [ ARKA [2+1 DBLX| 132 | 135,000

A |31] 3.KAT | ARKA [2+1DBLX| 127 [SOLD B |31] 3.KAT [ ARKA [2+1 DBLX| 127 | 135,000

A |32| 3.KAT | ARKA [2+1DBLX 122 [sOLD B |32 3.KAT [ ARKA [2+1 DBLX| 122 | 135,000

A |33] 3.KAT | ARKA [2+1DBLX| 127 [SOLD B |33] 3.KAT [ ARKA [2+1 DBLX| 127 | 135,000

A |34| 3.KAT | ARKA [2+1DBLX 132 [sOLD B |34 3.KAT [ ARKA [2+1 DBLX| 132 | 140,000

A |35 3.KAT | HAVUZ [2+1 DBLX| 132 [SOLD B |35]| 3.KAT [HAVUZ[2+1 DBLX| 132 | SOLD

A |36| 3.KAT | HAVUZ [2+1 DBLX| 128 [sOLD B |36] 3.KAT [HAVUZ[2+1 DBLX| 128 | 138,000




